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GEE-T) NH=nu g

480-1413 2,850m 489-4-413 2,850m 480.7.413 2,850m
Y ARH = —AE22cm b L —(22x2) T4 00—y NAE22cm b L —(22x2) TZ v 94—y bHE22cm b L — 22x2)
4892413 3,950m 4895413 3,950m 480-8-413 3,950m
YR A= —AE28cm b L — (28%2) 74 0—"7y FAE28cm b L —(28x2) TZ 794 —IbFy MHE28cm b L — 28x2)
489-3-413 5,000m 4896413 5,000m 489-0-413 5,000m
YR H = —AE33cm b L —(33x2) T4 00—y FAE33cm b L —(33x2) TZ9 9% —Fy bHEB3cm b L —(33x2)

489-10-413 1,750m 489-13413 1,750m 480-16413 1,750m
viHRHZ—AE14cm b L —(14x14x12) J140—7v KA 14cm b L —(14x14x12) TZv 794 —bF vy bAET14em b L — (14x14x12)
489-11-413 2,600m 489-14-413 2,600m 480-17-413 2,600m
v R H=—AE20cm b L —(20x20%15) 74 0—7vy KAE20cm b L — (20x20x15) TZ v 794 —Fy bAE20cm b L — 2ox20x15)
489-12-413  3,800m 489-15413  3,800m 489-18413  3,800m
YRS = —AE260m b L — (265%265%25) J140—7 v KAE26cm b L — (265%265%25) T7y 7% —IvFy MAEI26em b L — (265x265x25)

489-19-413  2,200m

48922413 2,200m 48925413 2,200m
v HRH=—RA18cm b L — (18x14x1) JA40—7y FRAT18cm b L — (18x14x1) TSy 79t —IbFy MEAT18cm b L — (18x14x1)
489-20413_3,250m 48923413 3,250m 489-26413  3,250m
YR H = —RA28cm b L — (28x18x1) J40—7y FRA28cm b L — (28x18x1) TZv 794 —IF v MRA28cm b L — (28x18x1)
489-21-413 4,700m 489-24-413 4,700m 48927413 4,700m
vk A= —RA36cm b L — (365x28x1) g4 00—y KRA36cM b L — (36x28x1) TSy 79t —Fy bEAS6CM b L — (36x28%1)



